
IN
ST

 0
19

3 
R

EV
A 

S 
Be

sh
or

e

SHEET 1  OF 14 

01
/2

7/
20

15

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS



 SHEET 2 OF 14 

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS



 SHEET 3 OF 14 

RUBBER
MALLET

or

PLASTIC
TIP HAMMER

PHILLIPS #2
SCREWDRIVER

POWER
DRILL

INCLUDED HARDWARE

TOOLS NEEDED

COMMON
SCREWDRIVER

QUICK GRIP
CLAMPS

3/8" & 7/16"
SOCKETSOCKET WRENCH

3/8" & 7/16
WRENCH

#10-24 X 5/8"
PAN HEAD PHILLIPS
MACHINE SCREW (4)

PSCR0041

#1/4-20 X 3/4"
PAN HEAD PHILLIPS
MACHINE SCREW (4)

PSCR0091

1/4-20
NYLON LOCK NUT(4)

PNUT0011

10-24
NYLON LOCK NUT(4)

PNUT0055

N8 x .375 TEK SCREW (20)
PSCR0016

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS



 SHEET 4 OF 14 

"L" UPRIGHT QTY. (2)

"T" UPRIGHT QTY. (1)

BACK PANEL QTY. (1)

TOP PANEL QTY. (1)

PUNCHED SHELF QTY. (2)

SIDE SHELF QTY. (3)

TOP PANEL SUPPORT QTY. (2)

BACK SHELF SUPPORT QTY. (2)

FRONT SHELF SUPPORT QTY. (2)

BOTTOM SUPPORT QTY. (2)

SIDE SHELF 
SUPPORT QTY. (6)

TOP PANEL
LOCKING BRACKET QTY. (4)

COMPONENTS

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS



 SHEET 5 OF 14 

 DOOR ASSEMBLY (HD2)

DRAWER ASSEMBLY (SD)
GARMENT ROD ASSEMBLY

(GT & GB)

DOOR ASSEMBLY SHOWN
OPEN

COMPONENTS

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS



DETAIL  B

 

 SHEET 6 OF 14 

FIGURE A

 

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

STEP:1
IF NOT ALREADY INSTALLED, INSTALL THE LEVELING GLIDE KNOCK-IN MOUNTS (QTY. 4)
IN THE BOTTOM (END WITH FLANGE) OF THE "L" UPRIGHTS AS SHOWN IN FIGURE A, DETAIL B.
INSTALL LEVELING GLIDES IN KNOCK-IN MOUNTS LEAVING 1/8" CLEARENCE BETWEEN LEVELING
MOUNT, AND INSIDE SURFACE (HEX SHAPE) OF LEVELING GLIDE.

LEVELING GLIDE
KNOCK-IN MOUNT

LEVELING GLIDE

BOTTOM FLANGE OF
"L" UPRIGHT

"L" UPRIGHT

1/8" CLEARENCE BETWEEN
MOUNT AND GLIDE



 

 

 SHEET 7 OF 14 

 

DIMENSIONS SHOWN ARE FOR A 
71 3/4" HIGH LOCKER WITH A 10 1/2"
BOTTOM DRAWER AND A 43" HIGH
CENTER "T" UPRIGHT.

FIGURE C

DETAIL E

J

DETAIL D

13.475

45.000

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

BOTTOM FRONT
SUPPORT

LOWER FRONT 
SHELF SUPPORT

" L" UPRIGHT ASSEMBLY

STEP:2
ASSEMBLE THE FRONT OF THE LOCKER USING QTY. (2) "L" UPRIGHT ASSEMBLIES, AND 
QTY. (3) SUPPORTS IN POSITIONS AS SHOWN IN FIGURE C. INSTALL POSITION RETAINING 
SCREWS (#8 X .375 TEK SCREWS) QTY. (2) PER,  IN BOTTOM , AND QTY (2) FRONT SHELF
 SUPPORTS, AS SHOWN IN DETAILS D AND E.

" L" UPRIGHT ASSEMBLY

FLANGE OF UPRIGHT ASSEMBLY
 (BOTTOM OF UNIT)

UPPER FRONT
SHELF SUPPORT

USING 1/8" DIA. PILOT HOLE IN BOTTOM SUPPORT
DRILL TEK SCREW INTO UPRIGHT AS SHOWN 2 PLACES.

LOWER FRONT 
SHELF SUPPORT

UPPER FRONT
SHELF SUPPORT

DRILL TEK SCREW INTO CENTER HOLE 
OF SHELF SUPPORTS, QTY.(2) PER SUPPORT



 

 

 SHEET 8 OF 14 

FIGURE F

 

 
DETAIL G

DETAIL H

STEP:3
WITH LOCKER LAYING ON ITS BACK, POSITION THE  REAR BACK PANEL SO 
AS THE FLANGES ARE AGAINST THE KEYHOLE FACE OF THE UPRIGHT AS 
SHOWN IN FIGURE F, DETAIL G AND H. PANEL SHOULD BE JUST SHORT OF 
FLUSH WITH BOTTOM AND TOP OF UPRIGHT ASSEMBLIES.

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

"L" UPRIGHT
ASSEMBLY

REAR PANEL

KEYHOLE FACE OF UPRIGHT

BOTTOM OF LOCKER

SIDE FLANGE OF 
REAR PANEL

BOTTOM FLANGE OF REAR PANEL
FLUSH WITH BOTTOM OF UPRIGHT

TOP FLANGE OF
REAR PANEL

FLUSH WITH TOP OF UPRIGHT

SIDE FLANGE OF 
REAR PANEL

KEYHOLE FACE OF UPRIGHT

"L" UPRIGHT
ASSEMBLY



DETAIL  K
 

DETAIL  L

 

DETAIL  M

 

 SHEET 9 OF 14 

 

 

FIGURE J

 

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

STEP:4
INSTALL REAR SHELF SUPPORTS SANDWICHING THE REAR PANEL BETWEEN THE SHELF SUPPORTS
AND KEYHOLE SLOT FACE OF THE UPRIGHT. INSTALL THE POSITION LOCK SCREWS IN THE 
SUPPORTS SAME AS STEP 2, MAKING SURE TO KEEP THE BACK PANEL FLUSH WITH THE TOP 
AND BOTTOM OF THE "L" UPRIGHTS AS SHOWN IN FIGURE J, DETAILS K,L AND M.

USING 1/8" DIA. PILOT HOLE IN BOTTOM SUPPORT
DRILL TEK SCREW INTO UPRIGHT AS SHOWN 2 PLACES.
(SHELF SUPPORT BROKEN OUT FOR CLAIRETY)

DRILL TEK SCREW INTO 
CENTER HOLE OF SHELF 

SUPPORTS, QTY.(2) 
PER SUPPORT

SIDE FLANGE OF 
REAR PANEL

REAR PANEL BOTTOM FLANGE
FLUSH WITH BOTTOM OF "L" UPRIGHT

"L" UPRIGHT
ASSEMBLY

"L" UPRIGHT
ASSEMBLY

BOTTOM REAR
SUPPORT

UPPER REAR
SHELF SUPPORT REAR PANELTOP FLANGE 

FLUSH WITH TOP OF "L" UPRIGHT

LOWER REAR
SHELF SUPPORT

"L" UPRIGHT
ASSEMBLY



DETAIL  O

 
 SHEET 10 OF 14 

 

FIGURE N

STEP:5
STAND UNIT UPRIGHT, INSTALL DRAWER SUSPENSION MOUNTING (LEFT AND RIGHT) AS SHOWN 
IN FIGURE N, DETAIL O. REFER TO 4POST DRAWER (SD) INSTALLATION INSTRUCTIONS,
STEPS 1 THRU 3.

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

DRAWER SUSPENSION
ASSEMBLY (LEFT SIDE)

FRONT OF UNIT

LOWER FRONT 
SHELF SUPPORT

UPPER FRONT
SHELF SUPPORT

UPPER REAR
SHELF SUPPORT

BOTTOM REAR
SUPPORT

BOTTOM FRONT
SUPPORT

REAR PANEL

LOWER REAR 
SHELF SUPPORT



DETAIL  Q

 

DETAIL  R

  SHEET 11 OF 14 

STEP:6
TEMPORARILY INSTALL UPPER AND LOWER SHELF, 
THIS WILL HELP TO SQUARE UP UNIT. INSTALL FRONT 
AND REAR TOP COVER SUPPORTS.

FIGURE P

STEP: 7
ASSEMBLE DOOR FRAME TO FRONT OF UNIT STARTING 
AT THE TOP AND WORKING DOWN (DETAIL Q). REFER 
TO 4POST HINGED DOORS (HD2) ASSEMBLY INSTRUCTIONS,
STARTING WITH STEP 6 AND WORKING BACKWARD TO STEP 1.

STEP: 8
REMOVE SHELVES, ATTACH DOOR FRAME BRACKETS TO SHELF 
SUPPORTS (DETAIL R). REFER TO 4POST HINGED DOORS (HD2)
ASSEMBLY INSTRUCTIONS STEP 8.

 

 

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

REAR TOP COVER SUPPORT

FRONT TOP COVER SUPPORT
(BEHIND TOP OF DOOR FRAME)

UPPER SHELF

LOWER SHELF

DOOR FRAME
UPPER MOUNTING

BRACKET

DOOR FRAME ASSEMBLY

DOOR FRAME 
BRACKET



DETAIL  T

 

DETAIL  U

 SHEET 12 OF 14 

 

STEP:9
INSTALL LOWER SHELF, PLACE CENTER UPRIGHT
INTO APPROXIMATE POSITION.

STEP:10
INSTALL SIDE SHELF SUPPORTS BETWEEN
SIDE UPRIGHT AND CENTER UPRIGHT. THIS 
WILL LOCATE THE CENTER UPRIGHT OVER 
THE PROPER MOUNTING HOLES IN THE LOWER 
SHELF. INSTALL QTY (2) #10-24 x 5/8 MACHINE 
SCREWS THROUGH FLANGE OF UPRIGHT AND 
HOLES IN BOTTOM SHELF, SECURE WITH QTY (2) 
#10-24 NYLON LOCKNUTS, SEE DETAIL T.

STEP:11
INSTALL 4POST GARMENT RACK ASSEMBLY, 
SEE DETAIL U. REFER TO 4POST GARMENT
RACK ASSEMBLY INSTRUCTIONS, STEPS
1 THRU 5. 

FIGURE S

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

LOWER
SHELF

CENTER
UPRIGHT

#10-24 x 5/8
PAN HD. MACHINE SCREW

ATTACH W/ #10-24 
NYLON LOCKNUT (2 PLACES)

SIDE SHELF SUPPORTS
QTY. (6)

GARMENT RACK
ASSEMBLY

SIDE UPRIGHT

GARMENT RACK
ASSEMBLY

INSTALLED IN FIRST
OPEN HOLE BELOW
SHELF SUPPORT



DETAIL  X

 

DETAIL  W

 

 SHEET 13 OF 14 

 

 

STEP:12
INSTALL TOP SHELF, SECURE TO CENTER UPRIGHT USING
QTY (2) #10-24 x 5/8" MACNINE SCREWS AND 10-24
NYLON LOCKNUTS, SEE DETAIL W, INSTALL SIDE SHELVES.

FIGURE V

STEP:13
INSTALL TOP PANEL LOCKING BRACKETS QTY (4),
SECURE WITH POSITION LOCKING SCREW
N8 x 38" TEK (4 PLACES), SEE DETAIL X.

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

TOP SHELF

SIDE SHELF 
QTY (3)

TOP PANEL
LOCKING BRACKET

TOP PANEL
LOCKING BRACKET

QTY (4)

POSITION LOCKING SCREW 
N8 x 3/8" TEK

#10-24 x 5/8
PAN HD. MACHINE SCREW

ATTACH W/ #10-24 
NYLON LOCKNUT (2 PLACES)

CENTER UPRIGHT



DETAIL  Z

 

 SHEET 14 OF 14 

 

FIGURE Y

STEP:14
INSTALL TOP PANEL, FIRST REMOVE KNOCK-OUTS IN EACH CORNER 
OF PANEL, INSERT QTY. (4) 1/4 -20 x 3/4"  MACHINE SCREWS THRU
TOP PANEL AND TOP PANEL LOCKING BRACKETS, SECURE WITH 
QTY. (4) 1/4-20 NYLON LOCKNUTS, DRAW NUTS TO SNUG ONLY,
DO NOT OVER TIGHTEN AND BEND TOP COVER. SEE DETAIL Z.

STEP:14
INSTALL BOTTOM DRAWER, REFER TO
4POST DRAWER (SD) ASSEMBLY 
INSTRUCTIONS STEP 4 AND 5.

STEP:15
INSTALL DOOR ASSEMBLYS, REFER TO 
4POST HINGED DOOR INSTRUCTIONS (HD2)
STEP 7.

DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

END OF INSTRUCTIONS:
IF YOU NEED ASSEMBLY ASSISTANCE, PLEASE CONTACT CUSTOMER SERVICE AT

1-866-217-0330 (MONDAY THROUGH FRIDAY 8:00 AM - 5:00 PM E.S.T.)

TOP PANEL

1/4-20 x 3/4"
PAN HD. MACHINE SCREW

ATTACH W/ 1/4-20
NYLON LOCKNUT (4 PLACES)



4POST DRAWER (SD) INSTALLATION INSTRUCTIONS

PAGE 1 IN
ST

01
86

  
Re

vB
  

06
/1

2/
20

14
  S

D
B

POWER
DRILL

RUBBER
MALLET

or PLASTIC
TIP HAMMER

PHILLIPS
SCREWDRIVER

TOOLS REQUIRED FOR ASSEMBLY

INCLUDED HARDWARE

FLAT HEAD
SCREWDRIVER

 READ ALL INSTRUCTIONS BEFORE STARTING ASSEMBLY

 OPEN ALL BOXES AND MAKE SURE THAT YOU HAVE ALL REQUIRED COMPONENTS

 4POST UNIT MUST BE PROPERLY LEVEL AND SQUARE PRIOR TO INSTALLATION OF DRAWERS

#10-24 x 3/8" Type '23'
 Phillips Pan Head 

Self-Threading Screw
 
 

#10-24 x 1/2" Type 'F'
 Phillips Pan Head 

Self-Threading Screw



 

 PAGE 2

4POST DRAWER (SD) INSTALLATION INSTRUCTIONS

LOCATE A MATCHING PAIR OF INNER BRACKETS AND (2) 
MATCHING PAIRS OF OUTER BRACKETS AS SHOWN IN 
FIGURE A. SLIDE THE OUTER BRACKETS INTO THE FLANGES 
OF THE INNER BRACKETS SO THAT YOU HAVE A MATCHING 
PAIR OF BRACKET ASSEMBLIES AS SHOWN IN FIGURE B. DO 
NOT SECURE INNER AND OUTER BRACKETS TO EACH OTHER 
AT THIS POINT.

STEP 1:

STEP 2:
INSTALL DRAWERS FROM THE BOTTOM OF THE UNIT 
UPWARDS. POSITION ONE BRACKET ASSEMBLY INTO THE 
LOWEST OPEN KEYHOLE AS SHOWN IN FIGURE C. ONCE THE 
ASSEMBLY IS PROPERLY POSITIONED IN THE UPRIGHT,
GENTLY TAP THE TOP OF THE BRACKET ASSEMBLY WITH A 
RUBBER MALLET TO PROPERLY SEAT IT IN THE KEYHOLES. 
REPEAT THIS STEP FOR THE BRACKET ASSEMBLY ON THE 
OPPOSITE SIDE OF THE FIRST DRAWER.

STEP 3:
WITH BOTH BRACKET ASSEMBLIES IN 
PLACE FOR THE FIRST DRAWER, 
SECURE BOTH INNER BRACKETS TO 
THEIR CORRESPONDING OUTER 
BRACKETS USING (4) #10-24 x 1/2" 
TAPPING SCREWS AS SHOWN IN 
FIGURE D. TO ENSURE THAT BRACKET 
ASSEMBLIES DON'T UNSEAT FROM 
KEYHOLES, INSERT A #10-24 x 3/8" 
TAPPING SCREW INTO THE UPPER 
HOLE OF EACH OF THE (4) OUTER 
BRACKETS AS SHOWN IN FIGURE D.

FIGURE A

FIGURE B

FIGURE C

 

FIGURE D

REAR OUTER
BRACKET

INNER BRACKET
W/SUSPENSION

FRONT OUTER
BRACKET

BRACKET 
ASSEMBLY

UPRIGHT

LOWEST
OPEN KEYHOLE

BRACKET 
ASSEMBLY

#10-24 x 3/8"
TAPPING SCREW

#10-24 x 1/2"
TAPPING SCREW



 

 

 

 

EXTEND SUSPENSIONS FORWARD AS FAR AS 
POSSIBLE. PLACE DRAWER BETWEEN SUSPENSIONS 
AND INSERT REAR TABS OF BOTH SUSPENSIONS 
INTO OPENINGS OF DRAWER BODY. ANGLE DRAWER 
ASSEMBLY SO THAT FRONT IS SLIGHTLY HIGHER 
THAN THE BACK AS SHOWN IN FIGURE F. PUSH 
DRAWER BACKWARD ONTO THE SUSPENSION 
TABS AS SHOWN IN DETAIL G. ALIGN THE TABS
ON THE DRAWER BODY WITH THE FRONT SLOTS
ON THE SUSPENSIONS AS SHOWN IN DETAIL H.

STEP 4:

4POST DRAWER (SD) INSTALLATION INSTRUCTIONS

PAGE 3

FIGURE F

 

DETAIL G

 

DETAIL H

FIGURE I

 

DETAIL J

STEP 5:
ALLOW THE FRONT OF THE DRAWER TO COME 
DOWN AND WITH THE AID OF A SCREW DRIVER  
PRESS OUTWARD ON THE UPPER TAB SO IT
ENGAGES IN THE SLOT IN THE SUSPENSION. 
ONCE ENGAGED PRESS DOWN ON THE DRAWER 
BODY TILL THE LOWER TAB SNAPS INTO PLACE 
BENEATH THE SUSPENSION SLOT AS SHOWN
IN DETAIL J.
 

REAR TAB ON
SUSPENSION

OPENING IN 
DRAWER BODYDRAWER

ASSEMBLY

UPPER TAB ON
DRAWER BODY

LOWER TAB ON
DRAWER BODY

FRONT SLOT
ON SUSPENSION

LOWER TAB SNAPPED
INTO PLACE BENEATH
SUSPENSION SLOT



 

 

 

STEP 6:
REPEAT STEPS 1-5 FOR
ALL OTHER DRAWERS WORKING
UPWARDS IN THE UNIT. USE THE 
SECOND OPEN KEYHOLE ABOVE 
THE PREVIOUS DRAWER TO 
MOUNT THE NEXT SET OF 
BRACKET ASSEMBLIES AS SHOWN
IN FIGURE K AND DETAIL L.

STEP 7:
USE DRAWER CONVERSION / 
REINFORCEMENT PANEL 
APPROXIMITLY EVERY 36" 
OF HEIGHT AS SHOWN IN 
FIGURE M

4POST DRAWER (SD) INSTALLATION INSTRUCTIONS

PAGE 4

 
FIGURE K DETAIL L

FIGURE M

END OF INSTRUCTIONS:
FOR ASSEMBLY ASSISTANCE CONTACT 
CUSTOMER SERVICE AT 1-866-217-0330
(MONDAY THROUGH FRIDAY, 8AM TO 
5PM EST)

USE SECOND KEYHOLE
COMPLETELY ABOVE 
DRAWER

DRAWER CONVERSION PANEL / REINFORCEMENT



IN
ST

01
85

 R
EV

-A
 8

/2
7/

13
 S

 B
es

ho
re

SHEET 1  OF 7 

4POST HINGED DOORS (HD2)
INSTALL INSTRUCTIONS



 
 SHEET 2 OF 7 

4POST HINGED DOORS (HD2)
PLEASE OPEN ALL BOXES AND MAKE SURE THAT YOU HAVE ALL REQUIRED COMPONENTS

READ ALL INSTRUCTIONS BEFORE STARTING ASSEMBLY

PLASTIC
TIP HAMMER

PHILLIPS #2
SCREWDRIVER

POWER
DRILL

RUBBER
MALLET

or

INCLUDED HARDWARE

#10-24 FLANGED
HEX NUT (4)
PNUT0052

#10-24 X 5/8"
PAN HEAD PHILLIPS
MACHINE SCREW (4)

PSCR0041

#10-24 x 3/8
PAN HD PHIL TAPPING (30)

PSCR0190

COMPONENTS

 

#10 x 1/2"
PAN HD PHIL

TEK SCREW (12)
PSCR0247

RIGHT & LEFT UPRIGHTS (1Each)

UPPER FRAME

LOWER FRAME

UPPER FRAME 
MOUNTING BRACKET (2)

FRAME SUPPORT 
BRACKET (CORNER) (4)

 FRAME SUPPORT 
 BRACKET (SIDES) (4)

RIGHT DOOR ASSEMBLY

LEFT DOOR ASEMBLY



 

 

 SHEET 3 OF 7 

4POST HINGED DOORS (HD2)
STEP 1:
PLACE LOWER FRAME ON FLOOR IN FRONT OF 4POST UNIT AND 
THEN SLIDE FRAME IN AGAINST SINGLE RIVET SHELF SUPPORT AS 
SHOWN IN FIGURE A & DETAIL B. IF USING A DOUBLE RIVET SHELF 
SUPPORT AND KICK PLATE (2" OR 4")  SEE FIGURE C & DETAIL D. 
MAKE SURE LOWER DOOR FRAME IS CENTERED BETWEEN 
UPRIGHTS, THEN INSTALL (4) #10 x 1/2" PHIL HD TEK SCREWS 
USING EXISTING HOLES IN LOWER DOOR FRAME AS A GUIDE TO 
ATTACH FRAME TO SHELF SUPPORT (OR KICK PLATE) AS SHOWN. 
 

FIGURE A

 

DETAIL B

 

FIGURE C

DETAIL D

LOWER DOOR 
FRAME

SINGLE RIVET 
SHELF SUPPORTS

4POST
UNIT

4POST
UPRIGHT

#10 x 1/2
TEK SCREW

LOWER DOOR
FRAME

SHELF
SUPPORT

(SINGLE RIVET)

SHELF
SUPPORT

(DOUBLE RIVET)

4POST
UPRIGHT

#10 x 1/2
TEK SCREW

LOWER DOOR
FRAME

KICK 
PLATE

SHELF
SUPPORT
(DOUBLE RIVET)

LOWER DOOR
FRAME4POST

UNIT



 

 

 SHEET 4 OF 7 

4POST HINGED DOORS (HD2)

FIGURE E

STEP 2:
INSERT RIGHT UPRIGHT INTO SLOTS ON LOWER FRAME AS 
SHOWN IN FIGURE E MAKING SURE TO HAVE THE HOLES FOR 
THE CORNER SUPPORT BRACKETS AND DOOR HINGES ORIENTED 
AS SHOWN.

STEP 3:
ATTACH UPRIGHT TO LOWER FRAME USING FRAME SUPPORT 
BRACKET (CORNER) AND (2) #10-24 x 3/8 PAN HD PHIL TAPPING 
SCREWS AS SHOWN IN FIGURE F.

FIGURE F

RIGHT FRAME 
UPRIGHT

LOWER
FRAME

HOLES FOR CORNER 
SUPPORT BRACKET

FRAME SUPPORT
CORNER BRACKET

#10-24 x 3/8
TAPPING SCREW

STEP 4:
REPEAT STEPS 2 & 3 TO ATTACH LEFT UPRIGHT TO LOWER 
FRAME



 

 

 SHEET 5 OF 7 

FIGURE G STEP 5:
ATTACH UPPER FRAME TO LEFT AND RIGHT UPRIGHTS
SIMILAR TO STEPS 2-4 AS SHOWN IN FIGURE G.

 

STEP 6:
SECURE UPPER FRAME TO 4POST UNIT TOP SHELF 
SUPPORT USING UPPER MOUNTING BRACKETS AND 
HARDWARE AS SHOWN IN FIGURE H AND DEAIL J.
 
 

FIGURE H

DETAIL J

FIGURE K

UPPER FRAME

CORNER SUPPORT 
BRACKET

UPRIGHT

4POST HINGED DOORS (HD2)

#10-24 FLANGED
HEX NUT

UPPER MOUNTING 
BRACKET

UPPER DOOR 
FRAME

TOP SHELF
SUPPORT

(STANDARD)

#10-24 x 3/8
PHIL HD 
TAPPING SCREW

#10-24 x 5/8
MACHINE SCREW

NOTE:
WHEN USING HEAVY DUTY TOP SHELF SUPPORT
USE OFFSET SIDE OF UPPER MOUNTING BRACKET
AS SHOWN IN FIGURE K.

UPPER MOUNTING 
BRACKET

TOP SHELF
SUPPORT
(HEAVY DUTY)



 

 SHEET 6 OF 7 

 

 

DETAIL M

FIGURE L

BOTTOM 
VIEW

DETAIL N

4POST HINGED DOORS (HD2)

STEP 7:
ATTACH DOOR ASSEMBLIES TO VERTICAL UPRIGHTS
USING (3) #10-24 x 3/8 PHIL HD TAPPING SCREWS PER
HINGE AS SHOWN IN FIGURE L AND DETAIL M.

FRAME SUPPORT 
BRACKET (SIDES)

MAKE SURE THAT SHELF
SUPPORTS ARE IN THE

DESIRED POSITION BEFORE
INSTALLING ANY SCREWS.

STEP 8:
ATTACH FRAME SUPPORT BRACKETS (QTY. 4, 2 ON
RIGHT SIDE, 2 ON LEFT SIDE) TO ANY 2 SHELF SUPPORTS 
BETWEEN THE TOP AND BOTTOM OF THE ASSEMBLY. 
ATTACH WITH (2) #10 x 1/2" PHIL HD TEK SCREWS PER 
BRACKET AS SHOWN  FIGURE L AND DETAIL N.

SHELF SUPPORT
DOOR FRAME 
UPRIGHT

LEFT DOOR
ASSEMBLY

RIGHT DOOR 
ASSEMBLY

DOOR HINGE#10-24 X 3/8"
TAPPING SCREW

CAUTION
4POST UNIT MUST BE SECURED TO WALL.
THE WEIGHT OF THE DOORS MAY CAUSE THE
UNIT TO TIP FORWARD IF 4POST UNIT IS NOT
PROPERLY SECURED.

#10 x 1/2"
TEK SCREW



 

 

 SHEET 7 OF 7 

 

 

 TO OPEN 
ROTATE KEYED LOCK
THEN THUMB LOCK

 COUNTER CLOCKWISE

LOCKED POSITION
(DOOR CLOSED)

OPEN
POSITION



DETAIL  A

IN
ST

00
86

 R
EV

1 
N

FW

SHEET 1  OF 2 

4Post Garment Rack Assembly Instructions

A

6/
8/

20
11

1/8"
GAP

1/8"
GAP

TUBE

1/4-20 x 3/4"
HEX BOLT

STEP 1
Thread a 1/4-20 hex bolt into each side of the garment tube. Do not fully tighten 
the bolts. Instead, leave a 1/8" gap between the bolt head & the threaded insert.

GARMENT SUPPORT
BRACKETS MUST BE
INSTALLED AT THE
SAME HEIGHT

STEP 2
There needs to be a support bracket attached to each corner of the 4Post unit to mount the garment rack. To install the garment
rack correctly, support brackets must be level with each other. To attach brackets, simply seat the rivets of the support brackets 
into the bottom of the upright keyholes. NOTE: Support brackets may need to be installed upside down if a shelf falls right above
the garment rod.

L-BRACKET
#8 x 3/8"

TEK SCREW

STEP 3
Place an L-Bracket over the support brackets. 
Attach the L-Bracket with #8 x 3/8" tek screws. 
Repeat for the opposite side.



 SHEET 2 OF 2 

END OF INSTRUCTIONS.
FOR ASSEMBLY ASSISTANCE CONTACT CUSTOMER SERVICE AT
1-866-217-0330 (MONDAY THROUGH FRIDAY, 8AM TO 5PM EST).

TUBE

1/2" HOLE

STEP 4
Place the hex head of one of the bolts into an 
L-Bracket 1/2" hole. Snap the opposite hex 
head into the opposite L-Bracket's 1/2" hole. 

STEP 5
Slide the tube to the desired slot for your application. If you'd prefer 
the tube not have adjustability, tighten the (2) 1/4-20 hex head bolts 
with an open ended wrench.

TUBE

TUBE
NOTE
Multiple tubes may be used on the same 
L-Bracket, depending on their purpose or size. 
Install the extra tubes following steps 4 & 5.


	INST0193_4Post Double Door Locker (DDWL)
	INST0186 - 4Post Drawer (SD) Install Instructions
	INST0185 - 4Post Hinged Doors (HD2) Install Instructions
	INST0086 - 4Post Garment Rack Instructions

